
Nivelamento Geométrico :  Data: _______ /_______ /_______ ; Instrumento: _______________________ ; Folha:  _____ /______ ;  

Grupo: ____________   ; Operador: ________________________________________    Troço:  ________________-_________________ 

  Mira atrás Distância 

mira-nível 

Mira à 
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mira-nível 
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entre miras 

Desnível Cota Correcção 

acumulada 

Cota 

ajustada 
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∑ =desníveis ____________ ; ∑fM atrás
= _____________ ; ∑ =fMfrente _____________ ; ∑ ∑- =fMfM frenteatrás ________________ 

Erro de fecho = cota de partida – cota de chegada + ∑desníveis = ________ ; Tolerância= =σ+σ+∑
2
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